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No calculator can be used.

8.EE.2 (2 points each)
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3. Solve the equation x“= 16. Show all solutions. Sho:?:f all Worlz. X - 2 Lxt = 36
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4. A square picture frame has an area of 144 square inches. Draw and label the square.
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a. ‘What is the length of each side of the picture frame? Show your work or explain your answer
including units. (2 points) i -
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b. Calculate the perimeter of the picture frame including units. (2 points) 12 1
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5. A cube has a volume of 125 cm?®. What is the length of each edge of the cube? Show or explain how
you found your answer. (2 points)
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6. The mass of Pluto is about 2 x 10" kilograms. The mass of Mars is about 4 x 10%° kilograms. How many
times heavier is Mars than Pluto? Write your answer in scientific notation and standard form.(4 points)

2 3
MAWLS ”HL\D” =@ This s @
\olu‘{b 2% 10

AdviSionm
10—l1 2 ‘OV‘DB‘(W\ -4

Ll \D = |ID
2
Hian PIU'h’

2" . X i
avs i1s 2,000 h waes caVv\.e

7. Venus is approximately 72,000,000 miles from the sun. How long does it take light from the sun to reach
the earth? Use the speed of light to be 1.8 x 10° miles per second. (4 points)
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8.EE.4 (2 points each) write your answer in standard form and scientific notation
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11. A factory builds a new warehouse that is approximately 1.28 x10%square feet. Later, they add on 1.13 x103
more square feet for offices. Use scientific notation to write the total size of the new building. (4 points)

S 3
O
L28 %10 + L13%xl 342, Mse s o
+ p.o\\3 |1 3o is @

S i ANE: \‘
u e R g, “ddl%mpm\u

\ . 2.e\ \3 @ 2 N -\DS//_._)

Fornal answer

12. A small sardine weighs .17 Ibs and a sardine company can bring in 200,000,000 sardines
per year. Approximate how much weight the company brings in per year. Use scientific
notation to help solve this problem. (4 points)
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13.  EQ: How can I manipulate numbers into different forms and why is it important? (2 points)

o TO PUT pumiees INTO THE $AME gathn So THEY CArR
BE  comPALED

e TO [MAKE CALLw LATOMS WITH LARAGE 40 SmidLl
YUMIBERS EA4SIER BY US/IMPG SCIENTIFc MNOTHTIOMN + Exfopcasdt$

v JO MAKKE CALLOLAM NS EASIEA BN US/im G
FLACTIOS

T xS

33223 % . 555¢ =

7

5. 5 \/ —= gasieV
= -

&

|
“'E ¥



